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ಘಟ  --              

1.               n   ಩ದ            . 

  A)                                            B)     

  C)                                                        D)   

2. -1,-4,-7,   ….                 ನ        . 

  A) -5                                                                      B) 5                                       

  C)  -3                                                                     D)   3 

3.                   ಩ದ         3   ಩ದ                                                                                                         

  A) 9                                                                     B)    10                               

  C) 4                                                                    D) 28 

4.    1 , , 7                ಩ದ     ,    ನ      

  A) 4                                                                   B)   8                  

  C)  6                                                                  D)    3 

5.               n   ಩ದ    5   ಩ದ   

   A) 15                                                             B)  6                                      

   C) 17                                                             D)  13 

6.              ದ  n ಩ದ ಳ       

   A)                                       B)         

   C)                                       D)    

7.   𝜮5         

  A) 10                                                             B)  15                                 

  C)  20                                                            D)  25 

8. =10     d =1                 20  ಩ದ   

 A) 10                                                        B)  19                                   

 C)  11                                                       D)  29 

9. 4,10,………..22 ….             3   ಩ದ   

  A)  6                                             B)16                                   

 C)  12                                            D)   26 

10.-5, -1, 3, 7,….              ದ  ಩ದ       ನ               …….. 

 A)-5    4                            B)    -5     -4        

 C) -5     6                         D) -5     -6 
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11.  2, 7, 12,…..,             10   ಩ದ                                                                                                                                                                            

A) 12                                      B)  47                    

C) 52                                      D) 32. 

12.   10, 7, 4,……             30   ಩ದ  

 A)  97                                      B) 77                        

C)  -77                                     D)-87 

13.  -3 ,-1/2, 2….             11   ಩ದ  

A)  28                                        B) 22                        

C) -38                                        D) -48  

14.    2,___, 26             ಩ದ            ಩ದ . 

A)  12                                         B)  14                      

C) -14                                        D)  -16 

15.  an  = 2n+3              n   ಩ದ        = ……..…. 

A) 5                                            B)  8                                   

C) 9                                            D) 10 

16.  
 

 
 , 

 

 
  

 

 
  

 

 
…….  ಈ                ನ        . 

A)  0                                           B)                           

C)  1                                           D)    

17.    7,4,1….                ನ ಩ದ   

 A)  3                                        B)  -3                         

C) -2                                         D) 2 

18.             n ಩ದ ಳ    .  

A)                        B)   

C)                        D)   

19.   4,9,14,….             9   ಩ದ   

A)  17                                                 B)  44                       

C) 36                                                  D) 40. 

20.             5, 9, 13,…………   10   ಩ದ     

A)    36                                         B)  31                         

C) 41                                            D)21 
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21. ಳ ನ  ಳ                    . 

A)    1,3,9,27.                               B)   -5,-3, -1, 1             

C)   2,6,10,14.                              D)     1,4,7,10. 

22.                = 9      d = 3      = 

A)  3                                               B) 6                      

C) -3                                               D) -6. 

23.               a=m      d=2m           =   

A) 5m                                              B) 8m                       

C) 9m                                              D)10m 

24.            ದ                ನ                                                                     

.    A)-1                                       B) 3                      

C) 9                                       D) 10 

25.  ಳ ನ  ಳ                    . 

A)  -5,-2, 2, 4.                   B) 11,14,16,20              

C) -1, 1, 3, 5                     D) 3,6,12,24. 

26.  ದ  n           ಳ     , 

A) Sn = 
      

 
           B) Sn = 

      

 
      

C) Sn = n(n + 1)         D) Sn = a + (n – 1) d 

27.  ದ  20              ಳ     * 

A) 400                          B) 200   

C) 410                         D) 555 

28   ದ  20           ಳ     * 

 A) 210                        B)200    

C)110                 D)160 

29) 3 ಩ದ                  ಧ ದ ಩ದ 30  ದ ,      ಩ದ ಳ      

A ) 50                          B) 60                                                                                           

C) 70                          D) 30 

30) Sn =50, Sn-1   42  ದ , an         

A) 50                              B) 42                                                                            

C) 20                  D) 8 

31) 5,1,3,7,….              ದ  ಩ದ       ನ               …... 

A) 5     -4                             B) -5     -4            

C) -5     6                             D) -5     -6                                       
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32)               n   ಩ದ   an =4n+5     3   ಩ದ                                                                                                                                 

A)  5                                          B)  9                  

C) 13                                         D) 17                                                                                         

33)                an  = 4n+1   ದ         ದ     ಩ದ                                                                                                        

A)  5, 9, 13                              B ) 4, 5, 6          

C)  4, 8, 12                              D ) 5, 8, 12                                                                                 

34)  3, 5, 7, …………..ಈ        20 ಩ದ ಳ    .                                                                                                                            

A) 220                                    B) 880                 

C) 440                                    D) 380                                                                                        

35)   ದ  ಩ದ 26       ನ        -7                       

A) 26,19,13,7                       B) 26,18,11,4       

C) 26,19,12,5                      D) 26,18,12,5                                                                         

36)             ಩ದ ಳ  ದ  n ಩ದ ಳ       

 A)     
 

 
                      B)     

 

 
            

 C)     
 

 
                      D)     

 

 
                                                                                           

37)   ದ  20        ಳ      

A) 400                          B) 200   

C) 420                         D) 555                                                               

38  3, 7, 11…………. ಈ                 210  ದ  ಩ದ ಳ      

A) 12                    B) 16   

C) 15                   D) 10 

39) -37, -33,-29 ----------               ನ         

A)  -33                      B) 25   

C) -30                      D) 4                                                                   

40   ದ  20, 5    ಩     ಳ      

A) 100                            B) 950   

C) 1050                D) 1000  
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ಘಟ --       

1.        ಩      ಳ    ಳ         4:9         ಳ        ಳ 

     

A) 2:3                                          B)  4:9                 

C)  81:16                                      D)  16:81  

2.        ಩      ಳ        ಳ      81:16        ಳ    ಳ 

     

A) 9:4                                         B)16:81            

B) 4:9                                             D)64:9 

3.  ಳ ನ  ಳ                           

      A) 3,4,5                                      B) 5,12,13        

     C)24,25,7                                    D) 8,12,15 

      4. 6        11     ದ ದ  ಫ ಳ ನ  ನ    12      ದ      ಫ ಳ      ಳ     

           ನ  ನ   ……….. 

      A) 13                                       B)7              

      C)15                                        D)14    

       5. ∆ABD    ∟A=900     AC ┴ BD  ದ     AC2 …….. 

       A)  BC.BD                                  B)  BC.DC    

       C)   BD.CD                                D)  AB.AD 

      6.         ಫ  ನ     ದ        ನ  ದ  4√2 cm  ದ       ದ  

 ದ … 

       A)  12√2 cm                               B) 12 cm           

       C) 8√2 cm                                  D) 8 cm 

     7.∆ABC     ∆BDE                    ,D     E   AB     BC            

         ಧ      ದ  ∆ABC     ∆ADE  ಳ        ಳ      

         A) 2:1                                  B)1:2        

     C)4:1                                    D) 1:4   

     8.∆ABC   ∆EFD        ಩    ಳ      

     A)
  

  
 

  

  
                            B)

  

  
  

  

  
           

     C) 
  

  
  

  

  
                          D)         

    9.             12 cm       16 cm                 ನ  ದ           

    A) 8 cm                                    B) 9 cm              

   C) 10 cm                                  D) 18 cm 
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  10.    ದ         ಳ         ನ      ಳ                    

          ದ   ಳ             ಳ        ದ           

ಈ      ……. 

  A)     ನ ಩                               B)    ನ ಩    ದ                

 C)        ನ ಩               D)        ನ ಩   ದ      

 11.         ದ  STIIQR ,PS/SQ          

  A)
  

  
                                  B) 

  

  
           

C) 
  

  
                                   D) 

  

  
 

12.∆ABC     DEIIBC, AD=15cm ,BD=3cm     AE=10cm  ದ  CE   ದ ….. 

A) 2 cm                              B) 3 cm        

C) 1.5 cm                           D) 2.5 cm 

13. .∆ABC     DEIIBC,DE = 5 cm   ,BC=8cm    AD=3.5cm           AE     ದ ….. 

 A)5.6 cm                             B) 4.8 cm     

C) 5.2 cm                              D)6.4 cm 

14.∆ABC      ∆PQR,    
  

  
 =  

  

  
   ದ  LC …. 

 A) ∟ P                             B) ∟Q        

 C)∟R                                D)∟B 

15.∆ABC      DEIIBC,   AD = 3 cm, BD = 9 cm      AC = 18 cm        AE    ದ …. 

A)    4 cm                             B) 4.5 cm        

C) 2.5 cm                             D) 5 cm 

16.    …….….          ಩     . 

A)                                 B )                

C)                               D)    ನ 

17.    ದ       ನ           ದ       ನ            ನ ಳ   

                 ದ  ದ                

     ಳ     .  ……. 

A)   .  .     ಩            

B)    .  .      ಩             

C)     .      ಩              

D) ಈ   ನ         
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18.        ದ                 ನ   ನ               ಳ     ಳ 

          ದ           ……….. 

A)     ನ                    B)   ಫ  ನ         

C)      ನ                 D) ಈ   ನ         

19. ಈ  ಳ ನ  ಳ    ಫ  ನ     ದ    ಳ       . 

 A)5,6,8                                  B) 6,8,10            

C) 4,5,6                                  D)9,10,12 

20.   ದ   XYIIPR   ದ    QR : QX …………          

 A)QP : YP                          B) QY : YP    

C) QP : QY                         D)  QY : QP 

21. QA┴AB      QB┴AB ,  AO=10cm, BO = 6cm     PB=9cm     

AQ= 

A)15cm                             B)25cm       

C)10cm                             D)          

22.∆ABC     ∟BAC=900     AD┴BC, ದ  ಈ  ಳ ನ  ಳ   

   ದ      ದ ……..  

A) BD.CD=BC2                    B) AB.AC=AC2        

C) BD.CD=AD2                   D) AB.AC=AD2  

23.   ದ   QR ನ   ………..  

A) 4cm                               B) 5cm    

C)6cm                                 D)8cm 

24.2AB=DE     BC=8cm       ∆ABC   ∆DEF         . EF ನ  ಳ   

A) 12cm                             B) 4cm      

C) 16cm                             D) 8cm 

25.∆ABC     AE 
 

 
        AB=6cm    DEIIBC  ದ  AD    ಳ ……. 

 A)2cm                               B)1.2cm       

C) 1.5cm                            D) 4cm 

26.∆ABC   ∆ DEF ,AB=4cm,BC=3.5cm, CA=2.5cm     DF=7.5cm  ದ  ∆DEF ನ    ಳ  …. 

 A)10cm                           B)14cm           

C)30cm                            D)25cm 
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27.      PQRS  ದ       O     ನ       .PQIIRS    PQ=3RS  ದ     ∆POQ 

    ∆ROS  ಳ        ಳ      ………. 

A)1 : 9                               B) 9 : 1        

C)3:1                                 D) 1 : 3 

28.∆ABC     DEIIBC, AD=x, DB=x-2, AE=x+2       EC=x-1     x ನ    …..  

 A)  3                                        B) 4          

C)5                                           D)3.5 

29. .∆ABC      ∆PQR  ಳ    ಳ    60 cm     36 cm    . PQ=9 cm  ದ  AB   

     …….. 

 A) 6cm                                 B)10cm         

C)15cm                                 D)24cm 

30.              ಳ    ಳ  ಳ       4:5   ದ ,    ಳ        ಳ 

     ……….. 

A) 16:25                                 B) 2:5       

C) 5:2                                      D) 25:16 
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               ಘಟ  ---                            

1.          ಳ                ದ  x+2y=3       2x+4y=k            k 

ನ         

A)   3                                                  B)   6                              

C)  -3                                                 D)   -6                                 

2. 2x+3y-9=0      4x+6y-18=0 ಈ               ……಩      .                                          

A)                                 B)                      

C)  ಩                            D)     

3. x+y=7 ಈ       ದ   x=3  ದ ,  ‘y’  ನ   , 

A)  -4                                                  B)  4                                      

C) 10                                                  D)    -10 

4. a1x+b1y+c1=0      a2x+b2y+c2=0      ಳ                      ಳ 

      ಳ     ದ       

A)     
  

  
 

  

  
                                    B)    

  

  
 

  

  
 

  

  
               

C)  
  

  
 

  

  
 

  

  
                              D)   

  

  
 

  

  
 

5.             ದ  3x+2ky=2     2x+5y+1=0              ದ  k ನ 

        

 A)  
  

 
                                                    B)  

 

 
                               

C)  5                                                      D)  
 

  
                                           

6. 2x-5y+4=0       2x+y-8=0 ಈ                            

A)          ಩                  B)    ಩         ಩         

C)  ನನ  ಩                                    D)  ಩          

7. ‘x’     ‘y’   ಳ         2x-3y=12 ಈ                   

A)  x=0 , y=-3                                 B) x=2  , y=3                   

C)  x=3  , y=-2                                D)  x=-2  , y=3      

8.              ಳ                ಈ  ಳ ನ  ಳ          ದ 

   . 

A)            ದ   ,಩              

B)       ಫ  ದ   ,಩              

C)      ಩          ದ     ಩     ಩         .                   

D)      ಩        ದ       ಩             
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9. 2x-y=5 ಈ       ದ    y=1  ದ , ‘x’ ನ  , 

 A)  3                                           B) 6                                     

C) 1                                             D)  4 

10. 5         7      ಳ        50 . ಈ              ಩…. 

A)  5x / 7y=50                           B)   5x+7y=50                  

C) 5x × 7y=50                           D)  5x-7y=50 

11. x – y = 2     x+y=4  ಈ        ಳ ಩       

 A) 4, 2                                    B)  1, 3                            

C) 3, 1                                      D)  1,2 

12. 6x-8y+8=0       6x-6y+16=0 ಈ                    ಩                   

A)                                       B)              

C)                                    D)         

13. 4x+py+8=0     2x+2y+2=0              ಳ    p         ನನ  

಩            

A)   2                        B)   4                       

C)  -2                        D)  -4                                            

14. x + y = 20           x-y=4  ಈ        ಳ ಩     ದ  x     y  ಳ    ಳ   

y=mx+3                    ’m’ ನ     

A)  5/12                          B)  12/5                            

C) 8/12                           D) -5/12  

15. 2x+3y =9        x+y=5  ಈ        ಳ     y ನ    

 A)3                                 B)  2                                

 C)  4                               D)  12 

16. 2x+y =9        3x+y=11  ಈ        ಳ    x ನ    

A)3                                 B)  1                                 

C)  2                               D)  11 

17. 5x-4y+8=0       7x+6y-9=0 ಈ                    ಩                   

A)                                       B)   ಫ       

C)                                      D)                  

18. 2x+y-6=0       4x-2y-4=0 ಈ                  ಳ           ಧದ 

                  ?         

A)          ನನ  ಩                 B)          ಩    ಩                                                         

C)           ಩                                  D)    ನ         
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19. x-y=10 ಈ       ದ   x=13  ದ ,   ’y’  ನ   , 

 A)  -3                                        B)  23                                      

C) 3                                           D)    -23 

20.                  ಳ       ಩    ಩    ಳ      ದ     

         ಳ   ಩                          .  

A)                                                   B)                    

C)                                                       D)            

21. x-4y+8=0       2x-8y-9=0 ಈ                    ಩                   

A)                                       B)   ಫ       

C)                                      D)                  

22.                  ಳ      ಩           (      ದ  )   

       ಳ   ಩                          .  

A)                                                   B)                    

C)                                                       D)    ನ      

23. x+y=5      x-y=8 ಈ                             ಳ ನ     

  .           

A)    ಩                                       B)   ನನ  ಩          

C)  ಩    ಩                            D)  ಈ   ನ         

24. 2x+y = 11           x+y=8  ಈ        ಳ    x     y  ಳ            

A) -3,5                                         B)  2,5                               

C)  3,-5                                        D)  3,5  

25. 6x-2y+9=0      3x-y+12=0 ಈ            ಳ     …….…. 

A)                             B)                 

C)                                D)  ಫ       

26. k ನ         , Kx-y=2       6x-2y=3 ಈ              ಳ       ನನ   

಩              .                                                                                         

A)  =3                                            B)    3                                     

C)                                             D) =0 

27. k ನ         , 2x+3y=5       4x+ky=10 ಈ              ಳ      

 ಩    ಩    ಳ          .                                                                                         

A)  1                                         B)                                          

C) 6                                          D) 0 
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28. k ನ         ,ಈ              ಳ      ಩               .    

x+2y-3=0       5x+ ky+7=0                                                                                     

A)  10                                       B)                                          

C) 3                                          D) 1 

29.        ಳ     9                ದ               . 

ಈ        ಩               , 

 A)  x+y =9, 2x=y                                     B)  x-y =9, 2x=y                 

C) x+y =9, x+2y=0                                  D)  x+y =9,  x+y=2 

30. x=5  , y=4                ಳ                 ಩             

………..      . 

A)                                           B) (4,5)                  

C)                                                        D) (5,4)                  

31. a1x+b1y+c1=0      a2x+b2y+c2=0  ಩ದ             ದ      ಩     

        ಈ  ಳ ನ  ಳ         . 

A)    
  

  
 

  

  
 

  

  
                                              B)   

  

  
 

  

  
 

  

  
               

C)   
  

  
 

  

  
                                                        D)   

  

  
 

  

  
 

  

  
 

32. x – y = 2       2x+y=7  ಈ        ಳ ಩       

A) (3,1)                                                  B)  (4,3)                            

C) (5,1)                                                  D)  (-1,-3)  

33. 3x+2ky=2     2x+5y=-1                         ದ  k ನ         

A)  5                                                    B)   
 

 
                                

C)  
  

 
                                                  D)    

 

 
              

34. x+y=5      2x+2y=1 ಈ               ……………಩      .                                          

A)                                 B)                      

C)                                         D) ಩        

35.         ಳ               ಳ            ದ   ,   ಳ         

A)                                                    B)                  

C)                                    D)  ಫ         

36. 2x-8=3y ಈ             ನ   ಩ದ   ಫ   ,  

A)   2x-3y +8=0                                         B)   2x+3y =8                   

C)   2x-3y =8                                             D)  3y-8= 2x 
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37.          ಳ               ಳ        ನನ  ಩        ದ       

     -----       .  

A)                                                         B)                             

C)                                      D) ಈ   ನ      

38.                  ಳ     ಳ   c1       , 

A)  ದ        ದ x                     B)   ದ        ದ y             

C)             ದ                         D)   ದ         ದ        

39.           ದ    3kg           5kg             . ದ      

   500  .  ದ           ಩ದ       ಩    , 

 A)  3x+3y =500                                            B) 3x-3y =500                

C)  3x+5y -500=0                                         D)    5x+3y =100 

40. 2x+y=3     y=mx+3 ಈ                        ಩     ದ  , m ನ 

  , 

A)  -3                                                              B) -2                                  

C)  2                                                                D)    3 
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1. 3   .        ಳ                               ಳ ನ  ನ     

(A) 2 cm                                  (B) 4 cm 

(C) 6 cm                                  (D) 8 cm                                                                                                                             

2.    ದ    R S   25 ,  ದ  R S ನ     

(A) 135°                                 (B) 145° 

(C) 165°                                 (D) 155°                                                                                                    

3. 8 cm      ಳ          ದ   ದ 17 cm   ದ               ದ   ದ 

     ದ  ದ  .                                                                      

(A) 5 cm                                         (B) 9 cm 

(C) 15 cm                                        (D) 23 cm                                                                                                                              

     4.           ದ         ದ       ಳ  ದ  . 

                                                                               

               C                                   ನ                                                                                                            

    5.    ನ         ನ      ಫ  ದ            ಳ      

             (A) 1                                              (B) 2 

             C   ಩                                (D) 0                                                                                                                  

6.            ದ          ಳ     ದ         ಩    . 

(A)  ಫ                                    

 C                                 ನ         

7.                     ದ    ಫ  ದ            ಳ      

(A) 1                                      (B) 2 

(C) 0                                           ಩                                                                                                                            

8.      ದ   ದ 10 cm   ದ               ದ         ದ      ದ 

 ದ   8 cm  ದ     ದ      .  

(A) 4 cm                             (B) 5 cm 

(C) 6 cm                             (D) 7 cm                                                                                                                      

9.     ದ  , C      CQ        ದ  ಳ          ದ        . 

 R    R ನ              ದ               .               

C    11 cm      

 C   6 cm  ದ   R ನ  ದ  . 

(A) 6 cm                       (B) 5 cm 

(C) 4 cm                       (D) 3 cm        

                                                                                                

10.     ದ  ಳ        13 cm   ದ             ದ   ದ          Q     

 R    .    ದ       5 cm  ದ         Q R ನ        . 

(A) 60 cm²                  (B) 65 cm² 

(C) 30 cm²                  (D) 32.5 cm²   

11.          ದ  ,         C        ದ  ಳ          ದ 

       . ∠  C   40 ,  ದ  ∠  C    ದ        .                                                                                              

(A) 40°                                 (B) 50° 

(C) 140°                               (D) 150°
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12.          ದ  ,     ದ  ಳ          ದ   ದ 26 cm   ದ             ದ 

  ದ        T    ದ   24 cm.  ದ     ದ     ದ  ದ  . 

(A) 25 cm                                 (B) 26 cm 

(C) 24 cm                                 (D) 10 cm                       

                                                                                                 

13.                   ದ ದ              ಳ     

(A)          ಫ      .                   (B)                    . 

 C                    .               (D)      ದ           .                                                                                                                                                                                                   

14.                                  .  

(A)                                                        ಧ  

 C                                                                                                                                                                                

15.             ಳ                        ಳ         .    ದ         

154cm2  ದ        ದ  . 

(A) 7 cm                                             (B) 14 cm 

(C) 10 cm                                           (D) 25 cm                                                                                                                        

16.     ದ  ಳ        13 cm   ದ             ದ   ದ          Q      R 

   .    ದ       5 cm  ದ    R ನ        . 

(A) 60 cm²                                            (B) 65 cm² 

(C) 30 cm²                                            (D) 32.5 cm²                                                                                                                           

 17.    ದ    T        ದ  ಳ          ದ         .  T   4 cm 

    ∠ T    30   ದ   T    ದ  .  

(A) 4 cm                                                (B) 2 cm 

(C) 2√3 cm                                            (D) 4√3 cm                                                                                                                                           

18. O   ದ  ಳ      ದ       Q           R         ನ       

       ನ   50   ದ  ∠  Q ನ  ಳ   

(A) 100°                                                  (B) 80° 

(C) 90°                                                    (D) 75°                                                        

19.    ದ  ,     ದ  ಳ     ದ                    T          ನ   

  ದ         . ∠AOB = 100 ,  ದ  ∠  T    ಳ  . 

(A) 100°                                               (B) 40° 

(C) 50°                                                 (D) 90 

20.     ದ  ಳ                             ದ   ದ          . 

∠      60 ,  ದ  ∠       

(A) 30°                                                (B) 60° 

(C) 90°                                                 (D) 15°                                                                                                       

21.          ದ  ,     ದ  ಳ        T      TQ     T       ದ 

  ದ          .  ∠  Q   110   ದ   ∠ TQ    ದ        . 

(A) 55°                                               (B) 70° 

(C) 110°                                             (D) 90°                                                                                                                          
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 22.     ದ  ಳ         Q      R            ದ   ದ          .  

∠Q   27   ದ  ∠Q R ನ  ಳ    

(A) 63°                                                 (B) 153°                              

(C) 126°                                               (D) 90°                                                                                                                         

23.          ದ  ,  QR       ದ  ಳ        Q     ನ     ದ 

        .             R                ∠ QR   70 ,  ದ  

∠ Q  ನ  ಳ  .  

(A) 20°                                               (B) 40° 

(C) 35°                                               (D) 45°                                                                                                                             

24.              ಳ   ನ                       .                              

(A)                                                ದ  

 C                                       (D)                                                                                                                    

 25. 13 cm     5 cm      ಳ                  ಳ                      

            ದ   ದ  ಳ  .       .                                                               

(A) 20 cm                                              (B) 24 cm 

(C) 12 cm                                              (D) 13 cm                                                                                                                   

 26.   C       ದ                .     12 cm,  C   15 cm     C    14 cm,  ದ  

    ದ         .                                                                   

(A) 12 cm                                             (B) 15 cm 

(C) 14 cm                                             (D) 11 cm                                                                                                                           

27.      ಧ                     ಫ  ದ            ಳ                                                                                                                       

(A) 2                                                          (B) 1 

(C) 0                                                          (D) 3                                                                                                                                  

28. 7 cm      ಳ              ನ   PQ                .   Q   25 cm  ದ   Q ನ 

 ದ        .                                                                     

(A) 20 cm                                             (B) 24 cm 

(C) 7 cm                                               (D) 14 cm                                                                                                                   

29.              ದ         ದ       ಳ ನ  ನ   ನ     60   ದ       

    ಳ     ದ              ಳ ನ  ನ   ನ .                                                                                                        

(A) 100°                                     (B) 60°   

(C) 120°                                     (D) 90°                                                                                                                             
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30.      ಫ   : 

 1     ದ   ನ     ನ     ದ 

      ….. 

     ದ                    . 

 2     ದ         ಳ     

          ಳ    …. 

(B)              ದ        

 ಫ      . 

(3)          ದ         ದ 

       …. 
 C       ಧ          

 4        ದ           

  ದ            …. 

             

(A) 1 → A, 2 → B, 3 → C, 4 → D 

(B) 1 → B, 2 → A, 3 → D, 4 → C 

(C) 1 → D, 2 → A, 3 → C, 4 → B 

(D) 1 → B, 2 → C, 3 → D, 4 → A                                                                                  
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ಘಟ --       

1.    ದ   C         ನ                 ದ                         

A. 3 : 2         B. 2 :3   

C.3 : 5         D.5 : 3 

2.    ದ   Q , C   ನ         ದ   

           

A. 2 : 3        B. 3 : 2   

C.3 : 4        D. 4 : 3 

3.     ನ       ,                       

 

A. AP / BP = BB5 /AA6 

B. AB / BP = AA6 /BB5 

C. BP / AP = AA6 /BB5 

D. AP / BP = AA6 /BB5 

 

4.    ದ   AI ,                   ದ             

A. 2 : 1                  B. 3 : 2   

C.4 : 3                  D. 2 : 3 

 

5.             m : n       ದ   

      ದ    ನ     ದ   X     ನ ದ  ನ  X ನ      ನ   ದ   

        ಳನ           

A. m ÷ n                   B. m x n   

C.  m – n                   D. m + n 

    6.            3 : 2       ದ         ದ    ನ     ದ      ನ    X 

ನ  ನ    

          X  ನ            ಳನ            

       A. A1,A2,A3,A4,A5                  B. A1,A2,A3   

       C. A1,A2                                  D. A1,A2,A3,A4,A5,A6                                                                                                                       

7.              ನ  ಩              X      X    A1,A2,A3,A4,A5,A6,A7. 

    ಳ     ನ   ದ              A7         ದ          C 

              ದ       ಫ      

     A. 3 : 3                               B. 5: 4   

     C. 4 : 3                               D.  4 : 4 
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  8.              ನ  ಩              X      X    A1,A2,A3,A4,A5, 

    ಳ     ನ   ದ               5         ,         C 

        3C     5       C                          ದ  C 

                   ದ              

    A.  2: 3                      B. 3 : 2.   

    C. 3 : 5                      D. 5 : 3 

 9.              ನ  ಩              X      X    A1,A2,A3,A4,A5,A6, 

    ಳ     ನ   ದ              A6         ದ          C 

       ( AA2 / AA6        C /                     ದ  AC : AB = ___ 

    A. 2 : 4                   B. 6 : 2   

    C. 2 : 6                  D.  4 : 2 

  10.        ದ            ಳ       ದ     ನ   X          ಳ   AA1 = 

A1A2 = A2A3 = BB1 = B1B2       X ನ    A1,A2,A3        ನ    B1  , B2      A3B2 

       3 2                 ದ                 

   A. 3 : 2                B. 2 : 3   

   C. 1: 5               D. 5 : 1 

 11.          ದ              m : n     ದ             .  

  A.      ನ         B.    ನ     

  C.     ನ          D.          

 12. ∆ ABC ~ AB I C I      ∆ AB I C I      ∆   C     ದ 5/2    ದ   AB : AB I = --- 

  A. 5 : 2                              B. 2 : 5   

  C. 3 : 2                             D. 2 : 3 

 13. ∆ ABC ~ AB I C I      ∆ AB I C I        ∆  C   3 /5    ದ   AB : BIB  = __ 

 A. 2: 3                                         B. 5 : 2   

 C. 5 : 3                                         D. 3 : 5 

 14. ∆ ABC ~ ∆ AB I C I         ∆ AB I C I         ∆  C   5/2    ದ  .  

 A. ∆ ABC || ∆ AB I C I            B. ∆ ABC > ∆ AB I C I  

 C. ∆ ABC = ∆ AB I C I                            D. ∆ ABC < ∆ AB I C I 

15. ∆ ABC ~ ∆ AB I C I      ∆ AB I C I       ∆  C   2/5    ದ  .  

 A. ∆ ABC > ∆ AB
 I
 C

 I
             B. ∆ ABC < ∆ AB

 I
 C

 I
 

 C. ∆ ABC = ∆ AB I C I             D. ∆ ABC || ∆ AB I C I 
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16. ∆ ABC ~ AB I C I      ∆  ಳ    ಩      5 : 5    ದ  . ∆   C     AB I C I    

                * 

A.                         B.               

C.               D.             

17.     ದ   ∆BAC ~ ∆ AB I C I  ದ  AB I C I      ದ        C 

    ದ           .  

A. 3/1                          B.1/3   

C. 4/3                          D. 3/4 

18.  5 cm                 ದ ದ        ಳ ನ  ನ   ನ 90          .      ಳ 

         ಳ               ಳ                   ………. 

A.                           B.       

C.                  D.಩   

 19.        ದ   ನ     X     ನ         X                   X     

    ಳ      ನ   ದ   A1,A2,,,,,,,,    B1,B2,,,,,,, ಳ       ,     ನ  5 : 6   

    ದ         ದ  ಈ  ಳ ನ        ಳನ           

A. A5 & B5               B.  A3 & B3   

C.  A6 & B5               D. A5 & B6 

20.                :      5 : 8       ದ            ,   ನ      ದ 

  X     ನದ  ನ  X ನ         ದ A1,A2,A3,,,,, ಳ  ನ             

                  

A. A5                 B.  A6    

C. A7                 D. A8 

21.            2 : 5      ದ            ನ       ದ   X 

    ನದ  ನ  X ನ      ನ   ದ         ದ          ಳ        

A. 2                      B. 3    

C. 7                     D. 5 

22. 4 cm                       ದ   ದ   ದ 7 cm   ದ         

      ದ                       ದ               ದ       

A.4                                   B. 11    

C. 3                   D. 7 

23.      7 C      ದ             m   n      m : n       ದ   

    ದ  AP=  ____                                                                                                                               

A. 4                                     B. 3.5   

C. 3                                     D. 7 
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24.           ದ   C                        

    ದ              

A. 5 : 2                                           B. 2 : 5   

C. 2 : 3                                                     D. 3 : 2 

 

25. ಩       ನ  ಳ  5cm        C                   ದ   

                 ಩      3 / 2        AB I C I         

      AB I C I     ದ ಩       ನ  ಳ     

A. 5 cm            B. 7 cm   

C. 7.5 cm            D. 5.5 cm 

26.     9 cm,  C   1/2  C              C            ದ  AC = ____  

A. 6cm                          B. 3cm   

C. 4.5cm                          D. 9cm 

27.  n   5 , m   n   13  ದ  7.6 cm  ದ             m : n       ದ   

        .  ದ  ಈ  ಳ ನ        ದ             

A. 5 : 13                       B. 13 : 5   

C. 5 : 8                       D. 8 : 5 

28.    ದ                       ದ         ದ      ಳ ನ  ನ   ನ _____ 

A. 30°                         B. 45°    

C. 60°               D. 90° 

29.      ಳ ನ  ನ   ನ 90                 ದ         ದ           

          ದ   ದ                        ನ  

A. 30°                        B. 45°   

C. 60°                        D 90° 

30.12 cm                        ದ    ದ   ದ 10cm   ದ     

      ದ             ಳನ              ಳ  ದ  _____  

A.8 cm                        B. 6 cm   

C. 10cm                        D.  2cm 

31. 5 cm                     ಳ ನ  ನ   ನ 80                    ಳ   

     ,   ದ ದ       ದ      ಳ ನ  ನ   ನ ____ 

A. 80°                                   B. 40°    

C. 100°                        D. 160° 
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32. 3 cm                        ದ 4 cm  ದ           ನ       ದ  

  ದ   ದ              ದ     . 

A. 6 cm                           B. 5 cm   

C. 7 cm                           D. 8cm 

33.    ದ    ದ        ದ 25cm   ದ               ದ 24cm  ಳ   

      ನ       ದ      ದ    ದ       

A. 7cm                               B. 14cm   

C. 21cm                                         D. 28cm 

34. 5cm                     ಳ ನ  ನ   ನ  ,   ದ ದ      ದ      ಳ ನ  ನ 

  ನದ                           ಳ         ,   ದ ದ      ದ 

     ಳ ನ  ನ   ನ 

A. 30                               B. 60°    

C. 45°                               D. 90° 

35. 3cm                     ಳ ನ  ನ   ನ  ,   ದ ದ      ದ      ಳ ನ  ನ 

  ನದ  ಧ ದ                      ಳ         ,   ದ ದ      ದ 

     ಳ ನ  ನ   ನ  

A. 40°                                                       B. 80°    

C. 120°                                            D. 160° 
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ಘಟ ----               

1)    ಳ          ನ        __________  

A) ( x, 0)                                                                B) (y, 0)                   

C) (0, 0)                                                                D) (0, x)  

2) X –   ದ   ನ      ನ         _________   ಩ದ      .  

 A) ( x, 0)                                                            B) (0, y)                  

C) (0, x)                                                              D) (y , 0) 

3) Y –   ದ   ನ      ನ          _________   ಩ದ      .  

 A) (x, 0)                                                           B) (y, 0)                  

C) (0, y)                                                            D) (0, x)  

4)                 ದ   Y –     ದ                      ________   

       . 

A) X –                                             B)                        

C) Y –                                             D) (A) &  (B)     

5)                 ದ    X –     ದ                       

    _________          . 

A) X –                                             B) Y –                 

C)  ಫ                           D)  (B) &  (C)     

6)                 ದ    P(x1 , y1 )     Q(x2 , y2 )   ಫ          ಳ  

    ನ  ನ     _________________       .  

 A)  d = √      –                  –                          B)  d = √      –                  –                  

C)   d = √      –                 –                           D)  d =        –      
   +        –      

  

7)                 ದ                P(x , y )   ಫ          ಳ     

    ನ  ನ      _________________       .  

 A)  d = √                      B) d = √                         

C)   d = √                         D)   d =  x2  +  y2  

8)            (4, 3)               _______  

A)  9  ನ                    B) 16   ನ                   

C) 25  ನ                   D) 5  ನ    
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9)            (–2, –4)               _________  

A)  4 √   ನ              B) 2 √    ನ                

C) 10 √    ನ             D) 20  ನ    

10) (10 , 5)       (4, 13)                ____________  

A)  25  ನ                 B) 100   ನ                  

C) 10  ನ                  D) √    ನ    

11)  A( x1 , y1)     B(x2 , y2)  ಈ     ಳ            m1 : m2      ದ             

         ನ        ದ       _____________ 

A) P (x , y ) = (
               

       
   

               

       
)       B) P (x , y ) = (

               

       
   

               

       
) 

C) P (x , y ) = (
               

       
   

               

       
)       D)  P (x , y ) = (

              

       
   

              

       
) 

12) P(5, 8)  &  Q(7 , 10)  ಈ     ಳ            ದ  ಧ     ನ          

     __________ 

A) ( 12 , 18)                     B) ( 12, 9 )                    

C) ( 6 , 18 )                       D) ( 6 , 9 )  

13)  X (15, 8)  &  Y (3 , – 2)  ಈ     ಳ            ದ  ಧ     ನ 

      ____. 

A) ( 18 , 6)                        B) ( 9 , 3 )                    

C) ( 18 , 10 )                      D) ( 9 , 5 )  

14)                  ದ       ದ                      ____________  

A)  
 

 
 [         –                   –                   –      ]     

B)  
 

 
 [         –                   –                   –      ]     

C)   [         –                   –                   –      ]     

D)  [         –                   –                   –      ] 

15)          ದ           0 (    )  ನ   ದ   ,   ದ             _________  

A)   ಫ                                                            B)   ಳ          .    

C)             ದ                                 D)     -           ದ        

16)  A(4, -6)     B(a, b)     ಳ            ದ  ಧ      ‚     ‛ 

 ದ   ‘a’     ‘b’  ಳ       __________  

A)  a = 4       b = 6                                                B) a = -4       b = -6    

C)  a = -4       b = 6                                               D)  a = 6       b = 4 
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17)  A( p, q )     B(-5, 3 )     ಳ            ದ  ಧ      ‚     ‛ 

 ದ   ‘p’     ‘q’  ಳ       __________  

A)  p = -5       q = -3                                             B) p = -5       q = 3    

C)  p = 3       q = -5                                               D)  p = 5       q = -3 

18)             P( x , 15)      ಳ ನ  ನ    17  ನ  ದ  ;  ‘x’ ನ     ______   

A)   8                                  B) 64                             

C)  – 64                                      D) √–      

19)            P( 5 , k)      ಳ ನ  ನ    13  ನ  ದ  ;  ‘k’ ನ     ______   

A) 12                                          B) – 12                         

C)  (A)                          D)  (A) &  (B)      

20)  P (2 , -3 )       Q ( 10 , y )     ಳ ನ  ನ     10  ನ  ದ  ; ‘y’ ನ    _______     

A) 9  ಥ  3                              B) – 9  ಥ   3             

C)  9  ಥ  –3                    D)  – 9  ಥ  –3  

21)  (–1 , 7 )     ( 4 , –3 )     ಳ                 2 : 3       ದ   

          ನ          __________  

A) ( 1 ,-3 )                                   B) ( -1 , 3 )                      

C)  ( 1 , 3 )                           D)  ( 3 , 1 )  

22)  ( 7 , 6 )     ( 3 , - 2 )           ದ    ದ           ದ  ,       ದ ದ  

    ನ           ________  

A) ( -5 , 2 )                         B) ( 5 , 2 )                      

C)  ( 10 , 4 )                           D)  ( 10 , 8 )  

23)  ( 7 , - 2 ) ; ( 5 , 1 )     ( 3 , k ) ಈ         ಳ      ದ   ; k ನ     _______  

A)  2                                  B)  3                               

C)  4                                      D)   1  

24) X ( 2 , 3 ) ;  Y ( 4 , p )     Z ( 6 , -3 ) ಈ         ಳ      ದ   ; p ನ     _______  

A)  3                               B)  2                               

C)  
 

 
                                              D)   0  

25) A ( 1, 2) ; B ( 0 , 0)     C ( a , b)         ಳ       ದ  ________  

A)  a = b                         B) b = 2a                        

C)  a = 2b                                  D)   1  
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26) P( 4, 3)          x –     ದ         ______  

A)  2  ನ                 B) 3   ನ                 

C) 4  ನ                   D)    ನ    

27) ಩  ದ         ನ      ‚ ‛     ನ          ____  

A) ( 4 , 5 )                                           B) ( 5 , -4 )     

   

C)  ( 5 , 4 )                                          D)  ( -5 , 4 )   

 

28)  ( 2 , -2 )     ( -7 , 4 )     ಳ                1 : 2       ದ   

          ನ        ___________  

A) ( 1 , 0 )                             B) ( -1 , 0 )                   

C)  ( 0 , 1 )                            D)  ( 0 , -1 )   

29) ಩  ದ         ನ            , 

 P     Q     ಳ ನ  ನ     ______        

A) √     ನ                      B) √     ನ    

C)   4    ನ                        D)  7√   ನ    

 

30) ಩  ದ         ನ            ,  

    M     N      ಳ ನ  ನ     ______   

 A) √     ನ                      B) √     ನ   

C)  37    ನ                        D) 7√    ನ    

 

 

 

31) ಩  ದ         ನ            ,  

    P     Q     ಳ ನ  ನ     ______      

A) 8   ನ                        B) 2√    ನ   

C) 52  ನ                       D)  2√    ನ     
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32) ಩  ದ         ನ            ,  

  F       ದ Y –               ______    

A) 2  ನ                          B) 4  ನ   

C)  2√    ನ                   D)  2√    ನ      

 

 

 

33) ಩  ದ         ನ      ‚H‛     ನ  

            ____        

A) (-3 , -2 )                                B) ( 3 , 2 ) 

C)  ( -3 , 2 )                                D)  ( 3 , -2 )   
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ಘಟ ---              

1.              ದ   ದ   ಩ ……..   . 

A) x2+bx+c=0  B) ax2-bx+c=0   

C) ax2+bx-c=0   D) ax2+c-bx=0 

2. 2x2-3=7x          ದ  ದ   ಩ ……..   .  

A)2x2-3=7x  B) 2x2-3-7x=0   

C)  2x2-7x-3=0  D) -2x2-3+7x=0 

3. ಳ ನ        ಳ                   ? 

A) 3x2+4x-7=0  B) m2-5m-8=0   

C) 2b
2
+b-6=0  D) 0x

2
-2x-9=0 

4. ಳ ನ        ಳ                   ? 

A)4x-2-6x+6=0              B) 3x-8y=1   

C) 5x3+5x-7=0  D) 3x2+9=7 

 5. 2x2=4x-3   ಫ          ದ           …………..    

A) 1   B) 2    

C) 3   D) 4 

6. 7x2-4x=5   ಫ          ದ  ನ       ಩ದ  ………….    

A)7   B) -4    

C) 5   D) -5 

7. x(x+1)+8=(x+2)(x-2)       ……... 

A)                 B) ಘನ        

C)               D)              

8. ax
2
+bx+c=0    ಫ          ದ            …………..    . 

A)    ಫ          B)      ಫ        

C)             D)            

9. ax2+bx=c    ಫ          ದ               ……,  …….   …….   . 

A) a,b,c  B) a,-b,c   

C) a,-b,-c  D) a,b,-c                                                                                                                               

10. 3y2=7y-2   ಫ                  y ನ   ………   .                                                                        

A)1   B) 3                                                                                                                     

C) 7   D)2 
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11. ಳ ನ  ಳ  ನ        x2-3x+2=0                     ? 

A) 1   B) 3    

C) -1   D) -3 

12. ax2+bx+c=0    ಫ                ಫ  ದ         ಳ      …….. 

      . 

A)2   B) 3    

C) 1   D) 4 

13. ax2+bx+c=0   ಫ          ದ     ಳ          ಫಳ       …………... 

A)
   √      

   
   B)-b 

√      

  
   

C)
  √      

  
  D) 

   √      

  
 

14. x2+bx+c=0    ಫ          ದ     ಳ  ……………. ಩       . 

A)
   √      

   
   B) -b 

√      

  
    

C)
   √      

  
  D) 

   √     

 
 

15. (y-2)     (y+3)     y2+y-6 ನ  ಩   ನ         y2+y-6 =0        ಳ      

……    …..     

A) -2+3   B) 2,-3    

C)-2,-3   D) 2,3 

16. (x-1)      x2+px-3ನ  ಩   ನ       x2+px-3=0   ಫ          ದ    p  ನ  

    ………..      .   

A) 2   B) -2    

C) 3   D)-5 

17. m2+m-12=0   ಫ          ದ       …….    …….    

A) 4, 3              B) 4,-3    

C) -4,-3   D) -4,3                                                                                                                       

18.  x ನ         6x2-x-2=0                      ? 

A) 
 

 
 
 

 
   B)

  

 
 
 

 
    

C)
 

 
 
  

 
   D)

  

 
 
  

 
 

19.  x2+px+12=0    ಫ          ದ         4        P ನ     …..…….. 

A)  -7   B) +7    

C) -5   D)  +5 
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20  ಳ ನ               -2     +5  ಳ      ಳ         ? 

A) x2-3x-10=0   B) x2+3x-10=0  

C) x2-3x+10=0   D) x2+3x+10=0 

21. b2 − 4ac     ax2+bx+c=೦ ದ          ದ   ಧ             ,      ದ …… 

A)  b2 − 4ac ನ              ದ    ಳ                .  

B) b2 − 4ac ನ              ದ     ಳ         . 

C) b2 − 4ac ನ              ದ    ಳ   ಧ           .  

D) b2 − 4ac ನ              ದ    ಳ          . 

22.  ax2+bx+c=0,  ಫ          ದ   c 0             …….     ……….   . 

A) 0,  
  

 
        B) 0,  

 

 
        

C)   a,  
  

 
       D) b,  

  

 
 

23. ಳ ನ     ಫ  ಧದ   ax2+bx+c=0          ದ          ,    ಫ      

 ನ       . 

A) b2 − 4ac = 0        B) b2 − 4ac >0                   

C) b2 − 4ac < 0                 D) b2 − 4ac >0                

24. ax2+bx+c=0           ದ   b2 − 4ac < 0          ಳ     …….      . 

 A)    ಫ              B)    ಫ             

 C)     ಫ              D)                     

25.   ಧ ದ     ಫ  ಧದ  ax2+bx+c=0,          ದ           ಫ      

             .  

A) b2 − 4ac =0        B) b2 − 4ac >0                     

C) b2 − 4ac <0                         D) b2 − 4ac >0                

26. p2-4qr      ಧ                        ……      . 

A) px2+qx+r  = 0                          B) qx2+px+r=0 

C) px2+rx+q = 0                   D) rx2+qx+p=0  

27. ax2+c =-bx   ಫ          ದ   ಧ ದ      ನ        ದ      

.…..   . 

A) 
  

 
        B) 

  

  
        

C) 
 

 
                   D) 
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28.  2x2 = 4x-3   ಫ          ದ    ಧ ದ     ..…….       . 

A) -8    B) 8    

C) 40       D) -40 

29.  2x2 = 4x-3   ಫ          ದ     ……      . 

A)    ಫ       B)    ಫ      

C)              D)           

30.              ದ      4     ½                  ದ   ಧ    

………….       . 

A)  ನ     B) ಧ           

C)            D)         

31. 9x2+kx+4=0   ಫ                  ಳ           K ನ     

……      . 

A) ±12    B) ±13    

C) ±11    D) ±1 

32.              ದ   ಧ ದ     11                  ದ      

………..     ………..       . 

A)    ಫ               B)    ಫ            

C)     ಫ              D)     ಫ            

33.              ದ   ಧ ದ                       

         ದ       …..………..       . 

A)               B)    ಫ     

C)         D)             

34 .              ದ   ಧ ದ      ನ        ದ  

    ………..      . 

A)                 ನ    B)    ಫ           ನ  

C)                      D)     ಫ          ನ  

35..4x2+2x+8=0   ಫ          ದ ಩    ಳ      …….…    ………..      . 

A)                 ನ    B)                 ನ   

C)                     D)       ಫ          ನ   

36.  3x2+8x-2=0   ಫ          ದ    ಧ ದ    …………     

A) 40    B)68      

C)88    D)30 
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37. x2+bx+c=o   ಫ          ದ   ಧ ದ    …….    . 

A) b2 − 4ac    B) b2 − 4ac    

C) b − 4ac   D) b2 − 4a 

38. ax2+bx+c=0,   ಫ          ದ    b2 − 4ac                  ದ     ಳ 

      …..………..       . 

A)                 ನ     B)    ಫ           ನ  

C)     ಫ          ನ     D)             

39.  ax2+bx+c=0   ಫ          ದ       ನ            ಳ ನ     

     ? 

A) b2 − 4ac > 0    B) b2 − 4ac < 0    

C) b2 − 4ac = 0   D)            

40. ax2+bx+c=0,   ಫ          ದ   b2 − 4ac                 ದ      

…………      . 

A)               B)    ಫ            

C)      D)            
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ಘಟ ---        

1. sin   ------------      

A) 
    
                 B) 

      

          

C) 
      

                 D) 
    
      

 

2.  13cos  = 5   ದ   tan  = ---------- 

A) 
 

  
                 B) 

  

 
        

C) 
 

  
             D) 

  

 
   

3.  cosec  = 
  

 
    ದ   

 

  
  = --------------                                                                       

A) sin         B) cos      

C) tan        D)sec  

4.   tan  = 
 

 
    ದ   sin +cos  ---------- 

A) 
 

 
               B) 

 

 
          

C) 
 

 
         D) 

 

 
 

 5. sec  ದ         ------------ 

A) sin           B) cos        

C) tan        D)cosec  

6.  sin    = -------------- 

A) 
 

 
               B) 

 

√ 
          

C) √             D) 2 

 7.  sin           --------- 

 A) cos            B) cos      

 C) sin          D) tan    

 8.   sin   +cos    = ----------- 

 A) 
 

 
                 B) 1                                                                                                                                              

C) 
 

 
                D) 2 

9. 
      

        =---------- 

A) √                   B)0                                                                                                           

C) 1                                D) 
 

√ 
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10.  cos    − sin     ದ     ------------                                                                                                                                 

A) 
 

 
               B)0                                                                                                                              

C)1            D) 
 

√ 
          

11.          −          ದ     ------------- 

A) 1            B) 
 

 
       

C)0            D)-1 

12. 
       

        = --------------- 

A)0               B)1                                                                                                                                 

C)2             D)3 

13. .  
        

       = ------- 

A) 1            B) 0       

C) 
 

 
           D) 2 

14. sin              --------- 

A) sin           B) cos      

C)cos          D)sin    

13. cosec  ದ       ನ ------------ 

A) cos             B) sin         

C) cosec           D) sec   

14.          −          ದ     ---------  

A) 0              B) 1                                                                                                                             

C)2              D)3 

15.      ABC       ನ  B    ಫ  ನ    C      ದ   sin(90-              

A) 
  

  
           B) 

  

  
      

C) 
  

  
         D) 

  

  
 

16.  ಳ ನ  ಳ           ದ  --------------- 

A)       +      =1      B) sin =√            

C) sin =√                 D) cos =√          

17.       +       = 1               ದ       ----------- 

A) 1+       =             B) 1+       =          

C)               = 1               D)               = 1 
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18.         +      =1              ದ       -------- 

A) 1+       =             B)  1+       =          

C)               = 1   D)               = 1 

19.(             =------------------ 

A) 1+2sin                 B  1−2sin          

C) 1+sin              D  1−sin          

20.3tan  =√             = -------- 

A)               B)            

C)             D)     

21.        =--------- 

A) 
 

 
           B) 

 

 
        

C) 
√ 

 
         D) 

 

√ 
 

22. cosec    = -------- 

A)sin         B)sec      

C)sec          D)cos                                                                                                                                     

23.         x         = ---------- 

A) 
 

 
           B) 

 

 
                                                                                                                                        

C) 
 

√ 
        D)                                                                                                                       

24.  sec4A =cosec(A-   )       4A     ನ     A= -------                                                                   

A)             B)          

C)            D)     

25. sin   sec    + cos   cosec   =------------- 

A)0            B)1       

C)4         D) 2 

26.  ಳ ನ       ದ                       . 

A) tan        cot       B) sin       cos     

C) sin      cosec                                          D) sec      cosec  

27) 
        

         = ----   

A)                B)            

C)               D)        
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28) 9       − 9           

A) 9           B) 0       

C) 1                     D)-9 

29. 
         

         =----------- 

A) 0        B) N.D.     

C) 1          D) 2 

30. Sin2A=2sinA, A ನ              ? -------- 

A)            B)        

C)                      D)     
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ಘಟ ---                

1. ಈ    ದ   AB     BC=10       ದ     

A)                                            B)          

C)                                            D)     

2.         ನ      10  .                  ನ    ನ           , 

 ದ     ನ  ದ _________ 

A) 10m.                                B) 5m      

C)15m                                 D)20m 

3.              ದ     ನ  ದ  ಳ        √  :1      ನ    ನ         ? 

A)                                     B)           

C)                                     D)     

4.         20  .  ದ   .  ದ   10  .     ದ                   . 

                    ನ                    ಩      ದ 

                 _______ 

A) tan                                  B) sin       

C) cos                                  D)      

5.           ದ 20  .   ದ       ದ  ದ    ನ        ದ  ನ   

  ನ  60೦  ದ        ನ         ? 

A) 20√                                B) 20√        

C) 3√                                 D) √     

6.         ನ    ನ  ದ  300  .      ನ     ನ  45೦  ದ      ನ      _____. 

A) 300m                             B)100m        

C)200m                              D)500m 

7.    ನ          ದ   ನ                                  

              ಳ ನ  ನ   ನ ________. 

A)  ನ     ನ             B)          ನ      

C)        ನ            D)   ನ    ನ  

8.    ನ          ದ  ಳ ನ                                   

              ಳ ನ  ನ   ನ ________. 

A)  ನ     ನ               B)          ನ      

C)        ನ             D)   ನ    ನ  
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9.         ಫ      ದ     ನ      (1; √ ),     ನ     ನ  _______. 

A)                                 B)           

C)                                 D)     

10. ಈ    ದ   QR=10       = _____. 

A)                                B)           

C)                                D)       
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ಘಟ  :         

1.  ದ               ಳ       ……. 

A)  2                   B)3              

C) 5                D) 15          

 2. x+3  , 2x+6    ಈ ದ     ಳ        15  ದ  X ನ    ……….. 

A)  3                   B)0            

C) 7             D) 9        

3.           10  ದ  ಳ    ಫ            ದ      : 60,25,36,54,85 62, 95 18, 29, 

75    ದ     ಳ      …………. 

A)53.9                          B) 62.3            

C)58.5                              D)63.8                      

4.  ದ               ಳ        ……… 

A)  6          B)7            

C)5                 D)6.5 

5. n                  …………….              .  

A) n                  B) 
 

 
          

C) 
   

 
                D)  

   

 
 

 6.  ಫ         ಩ ಥ        65     ಳ   ,    ನ    ದ    50      ಳ   , 

      ನದ  55     ಳ             ದ           ಳ   ಩      . 

        ಳ       ಩          ಳ        60  ದ  ,   ದ       ಩ ದ 

      ………… 

A)65                       B) 60         

C)50              D) 70 

7.        ಩          ಳ                ಧ  ………..  

A) 3      =ಫ   +2                B) 2    =ಫ   +3      

C) 2     =2ಫ   +3               D) ಫ   =3     –       

8. ಈ  ಳ                  ಩      ‚        ‛           

       0 -10 10 -20 20 -30 30 -40 40 - 50 

     5 8 12 15 20 

A)10 – 20                      B) 20 -  30            

C) 30 – 40            D) 0 - 10        
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9. ದ     ಳ      3.3        2.4  ದ     ಳ ಫ     ……. 

A) 0.4                 B) 0.5                    

C) 0.6                  D) 0.7 

10. 8,12,21,42,x   ಈ ದ     ಳ        20  ದ   X ನ    ………..    

A) 8               B)20               

C)  21                  D)17 

11.     ದ     ಳ      19            40  ದ     ಳ ಫ    ……. 

A) 86             B) 75            

C)  30            D) 82 

12.  48,50,52,54,56,58,60,62,64    ಈ ದ     ಳ         ……… 

A) 56              B)48      

C) 64              D)50 

13. 9,7,11,6,11,23,24  ಈ        ಳ  ಫ     …………. 

A) 9                B)7              

C)11                     D) 23   

14.                ಳ  ಫ                …………….. 

A)  
       

    
        B) L + [ 

 
 
   

 
 ] X h       

C) L + [ 
         

         
]X h     D)  ನ      

15.                ಳ                       ನ     (30,45)     ನ   

   ದ     ಳ         ………….. 

A)75          B) 15      

C)30          D)45 

16.  a ,a+3, a+6, a+9, a+12     ಈ ದ     ಳ              10  ದ   a         

…………….. 

A)1             B) 2               

C)3               D) 4 

17.  ದ  n            ಳ      3n/5  ದ  n  ನ    ……. 

A) 3            B) 4            

C) 1/5             D)6 
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18.     ದ     ಳ              7.5      ∑ fi xi=120+3k ,  ∑ fi=30,  ದ  k   

    .. 

A) 40           B) 35        

C) 50                         D)45 

19.  x , 5 , 6 ,1 ,2     ಈ ದ     ಳ      24   ದ  x      ……… 

A)4               B) 6   

C) 8    D)10 

20.      ದ    ದ            ∑x         20     400    ದ       ದ    ದ     

       ಳ       ----------. 

A)10            B) 20            

C) 40                        D)1600 

21. ಳ ನ              ಫ             ದ  ಳ     -------. 

       0 – 10 10 - 20 20 - 30 30 - 40 

     3 7 4 2 

   A) 0                              B)10                                                                                                                  

.  C) 20                      D) 30 

22.            ದ    ದ            ಩    ಈ  ಳ ನ  ಳ     ದ    

಩     ಩           

A)                    B)                 

C)ಫ              D)  ಧ     

23. X   ದ          ದ      ,  Y   ದ       ಩             

      ನ      --------    . 

A)       ನದ                  B)       ನದ            

C)   ನ                                           D)     ನ   

24.          ನ      -----------           . 

A)                     B)                     

C)                            D)   ನ     

 25. ದ   9 ದ     ಳ        20.5    .    ಳ   4         ಳ   2   ದ  

       ಫ   ದ     ಳ         

A) 2                                                      B) 2            

C)  ದ ನ      ದ 2                D)  ದ ನ          
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26. ದ   100        ಳ       49    .  ದ  ದ     ಳ         60,70,80    

ಫದ   20,40,50             .   ದ      ದ         ------     . 

A)49             B) 50              

C) 59              D)60 

27. ದ   10        ಳ       20     . ಩   ದ      ದ  5              

       ಳ       ----.    

A)15                     B) 20                

C) 25                          D)40 

28. ಈ  ಳ ನ    ದ             ,           ಫ             . 

A)2,2,2,2,4           B)1,3,3,3,5    

C)1,1,2,5,6                     D)1,1,1,2,5 

29. 5,3,14,16,19,20,  ಈ        ಳ         ---- 

A) 14                 B) 16              

C)20            D)15 

30. ಈ ದ     ಳ              

       5 -15 15 - 25 25 - 35 35 - 45 45 - 55 

     4 3 6 5 2 

      

A)25               B)29           

C)30          D) 35 
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ಘಟ ----                ಘ ಫಲ 

1.       ‚r‛           ‚h‛             ನ                         

   .                                                                                                                                                                      

A)  2πr (r+h) sq cm         B)  2πrh   sq cm                                                                                             

C)  πrl  sq cm          D)  πr2  sq cm 

2.       ‚r‛           ‚h‛             ನ                         

   .                                                                                                                                                                     

A)  2πr (r+h)                    B)  2πrh                                                                                                

C)   πrl                                 D)  πr2   

3.       ‚r‛           ‚h‛             ನ ಘನಪ              . 

 A)  2πr (r+h)                     B)  2πrh                  

 C) ) 1/3 πr2h                         D)  πr2h   

4.       ‚r‛              ‚l‛          ನ                           

   . 

A)  πr (r+h)                        B)  2πrh                    

C)  πrl                    D)    πr (r+l)        

5.       ‚r‛              ‚l‛          ನ                           

   . 

A)  πr (r+h)                                   B)  2πrh                   

C)  πrl                   D)    πr (r+l) 

6.       ‚r‛           ‚h‛          ನ  ಘನಪ              . 

A)   4πr2                               B)  2πrh                  

C) ) 1/3 πr2h               D)  πr2h   

7.      ‚r‛         ಧ   ಳದ                             . 

A)  πr2                                              B)  2πr2                  

C) ) 3 πr2                        D)   4πr2 

8       ‚r‛         ಧ   ಳದ                             . 

A)  πr2                                                B)  2πr2          

C) ) 3 πr2                        D)   4πr2 

 9.     ‚r‛         ಧ   ಳದ ಘನಪ             . 

A) 3πr2                                                    B) 4/3 πr3        

C) 2/3 πr3                     D)  πr2h   
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10.      ‚r‛          ಳದ                             . 

A)  πr2                                  B)  2πr2          

C) ) 3 πr2               D)   4πr2      

11.      ‚r‛          ಳದ                               . 

A)  πr2                        B)  2πr2                                                                                             

C) ) 3 πr2                          D)   4πr2 

12      ‚r‛          ಳದ ಘನಪ             . 

A)   4πr2           B)  4/3 πr3        

C)   2/3 πr3              D)  πr2h   

13       ‚r‛              ‚l‛          ನ  ನ  ದ                     

        . 

A)  π(r1+r2) l          B)  π(r1+r2) l + π r1
2+ πr2

2          

C)  πrl                          D)    πr (r+l) 

14      ‚r‛              ‚l‛          ನ  ನ  ದ                     

        . 

A)  π(r1+r2) l         B)  π(r1+r2) l + π r1
2+ πr2

2          

C)  πrl             D)    πr (r+l)   

15      ‚r‛           ‚h‛          ನ  ನ  ದ ಘನಪ             . 

A)  π(r1+r2) l         B)  π(r1+r2) l + π r1
2+ πr2

2       

C)  πr2h           D) 1/3π h( r1
2+ r2

2+ r1r2) 

16    ನ         ‚l‛      ‚r‛           ‚h‛    ಳ ನ  ನ   ಧ.  

A)  l2= r2 + h2         B)   r2= l2 + h2                                                                                                   

C)   l2= r2 - h2          D)   h2 =  r2 + l2 

 17       ಳದ             616 sq.m.  ದ   ದ   ಧ    ಳದ            . 

A)  205.6 cm2                                 B) 308 cm2                                                                                                 

C)  1232 cm2                            D)  38 cm2 

18       ಳದ             2464  sq.m  ದ   ದ   ಧ    ಳದ             . 

A)  205.6 cm2        B) 308 cm2       

C)  1232 cm2         D)  38 cm2 

19           ನ  ದದ    ಳ  44 cm          10 cm  ದ   ದ  ಘನಪ . 

A)  490 π  cm3         B)  440 π  cm3       

C)  374  π  cm3           D)  980 π  cm3   
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20      ದ               ,      ದ  ದ                     

             ದ    . 

A)             B)       

C)    ಳ      D)     ನ  ನ   

21           ನ  ದದ    ಳ  44 cm          10 cm  ದ   ದ            

        

A)   490 cm2         B)  440  cm2       

C)  374  cm2          D)  220 cm2       

22 300m3 ಘನಪ                   ದ                        ನ 

ಘ ಪ . 

A)  900 m
3 

                B) 600 m
3
                 

C)  150 m3             D)  100  m3 

23. 7 cm               ಳದ             . 

A) 154cm2                  B)308cm2                 

C)  616  cm2          D)  770 cm2 

24      14 cm      ಧ    ಳದ                 . 

A) 1232 cm2               B)308 cm2             

C) 616 cm2             D) 2464 cm2 

25. 300 m3  ಘನಪ           ನ                   ದ          

     ಳ               ನ ಘನಪ . 

A)  900 m3                  B)  600 m3              

C)  150 m3                D)  100  m3 

26. 616  cm2                      ಳದ      . 

A) 7 cm                    B) 14 cm                                                                                               

C)21cm                     D)28 cm 

27.    ದ      ಳ         2  ಧ    ಳ ಳ  ದ ಳ                

                 .                                                                                                                                              

A) 3 πr2                    B)  4πr2                   

C) ) 5 πr2                   D)   6πr2 

28.    ದ  ದ              ಳ                     ಳ ಘನಪ  ಳ 

    . 

A)  2:1                       B)  3:1                    

C) )  2:3                    D)   3:2    



             (    ), . .ಇ.,       .       46 
 

29.    ಘನ                    ಳ ನ   ದ                ? 

A)   ದ                      B)  ಘನಪ              

C)                                       D)      

30. 9/ π cm       3/ π cm      ದ  ದ ಳ          4cm                   

   ನ  ನ  ದ                 . 

A) 200 π cm2             B)192  cm2              

C) 96 cm2                  D)  48 cm2 

 

************************************* 
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